2017 23 Jan
1 ~ Select matrices not in reduced echelon form and explain why.

1 7 0 8
2 0 4 1 2 0 3 0 1 0 0 2 01 0 3
0 0 0 O 0 0 3 40 0O 01 4 0O 0 1 2
0 1 3 0 00 O0OT1] |01 0 3 0O 0 0 O
0 8 0 0 7 4 00 1 2 3 0
01 2 1 0 00 10 0O 0 0 1
0 0 0 00 0 1 00 0 0
1 05 0 0 8 1 2 0 3 0 4
01 7 0 09 0 01 2 0 7
0 001 05 0 00O 1 6
0 000 1 4 0 000 0O

2 ~ state the method of Gauss-Jordan elimination

3 ~ Apply Gauss-Jordan elimination to translate the following matrix to reduced echelon form.h

0 0 2 -2 2]
3 3 -3 9 12
4 4 -2 11 12




